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e AN EXAMPLE OF LINEAR PROGRAMMING
0 Homewood Masonry -- A Material Production Problem

Resource HYDIT FILIT Availability
Wahash Red Clay 2 m3/ton 4 m3/ton 28 m3/wk
Blending time 5 hr/ton 5 hr/ton 50 hr/wk
Curing vat capacity 8 tons 6 tons
Profit $140/ton $160/ton
1. Algebraic formulation with numerical coefficients
Maximize Profit z = 140x; + 160x,
Subject to
2x, +4x, < 28
5x; +5x, <50
X, <8
Xy <6
2. Algebraic formulation with symbolic coefficients
2
Maximize Profit z = Z Cj X;
j=1
Subject to
2
Zaijx]- Sbi; i = 1,"‘,4
j=1
28 2 4
50 5 5
6 0 1

3. Matrix formulation

Maximize Profit z=c¢"'x

z = [140,160] - [2]

Subject to
A-x<b
2 4 28
5 5 _[x1] 50
1 0] bx2 8
0 1 6



